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PAPER-8

Aptitude Test for
Lateral Entry in Engineering
(Diploma Holders)

(Q. 1 to Q. 100)

001. A train 150 meters long, is running at | 001. 150 HieX &t wh 27 72 fopft /e & TwR
72 km/hour. Find the time taken to pass a U 9 @l 2l Jd W fh ew™ | @2 Th
man standing on a platform SAeH) &l IR HE § Ig foraan g o).
(A) 7.5 sec (B) 20sec (A) 7.58%RE  (B) 20¥s
(C) 30sec (D) 35sec (C) 309hs (D) 35dhs

002. What percentage of 80 is 240% of 30: 002. 80 =T fora ufasra 30 =h1 240% 27
(A) 60 B) 90 (A) 60 (B) 90
©) 72 D) 100 ©) 72 D) 100

8-AA | [2] [ Contd...



003. If Umesh salary is 20% less than Rakesh’s | ¢03. 3fe 3031 <7 o Tehs o 99 & 20% A &,
salary, by what percentage Rakesh’s salary is AT Teh3T &l 9dq 30 o dad & fords faerd
more than Umesh’s salary? 3rfereh 87
(A) 20% B) 22% (A) 20% (B) 22%
©) 25% D) 27% (C) 25% (D) 27%

004. Ifa:b=5:6andb:c=7:9 find a:c 004. qﬁ ab = 5:6 AT b:c = 7:9 dI a:c sl TH
(A) 35:54 (B) 54:35 feriferu)
©) 17:19 (D) 15:14 (A) 35:54 (B) 54:35

(©) 17:19 (D) 15:14

005. If LCM of two numbers is 750 and their | (5. qﬁamaﬁwww 750 3 3T
product is 18750, find the HCF of the 3BT UEHA 18750 2, O T3 1 HEaH
numbers. a9 3d hifSu)
(A) 50 B) 30 (A) 50 (B) 30
(©) 125 D) 25 (C) 125 (D) 25

006. In a class of 60 students, 25 students play | go6. 60 faenfoai &t wen swam d 25 forameff fsrere,
cricket and 20 students play tennis, and 10 20 foremeff g 3t 10 fEneff M1 & wo
students play both the games. Then, the Tad 8, 9 o | ¥ s ff T TE W
number of students who play neither is: a1 faenfer <6t g=-
(A) 0 B) 25 (A) 0 (B) 25
©) 35 (D) 45 (C) 35 (D) 45

007. Domain of va*—x* (a>0) is: 007. a&*—x* (a>0)<h Id &
(A) (—a,a) B) [-a,d] (A) (-a,a) B) [-a,a]
(©) [0, 4] D) (-a,0] (C) [0, a] (D) (-a,0]

008. The minimum value of 3 cosx +4 sinx + 81is: | 008. 3 cosx + 4 sinx + 8 &l =[AdH 7 2
(A) 5 B) 9 (A) 5 (B) 9
© 7 D) 3 C) 7 D) 3

8-AA | [3] [ P.T.O.
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EE:? 009. The value of cos 12° + cos 84° + cos 156° + | 009. cos 12° + cos 84° + cos 156° + cos 132° &l

'Es cos 132° is: 2

e HH

:E:g (A) 172 B) 1 (A) 12 (B) 1

ﬁ € -12 (D) 1/8 (C) -1/2 (D) 1/8

?:::E 010. The longest side of a triangle is twice the | ¢10. ferd ﬁrﬂq & a8« ST 99 Bl ol

{ shortest side and the third side is 2cm longer T g"l:ﬁ 2 @ diEgh ool 98 I ST T

than the shortest side. If the perimeter of the 2 gt Aferes 8| Ffe ﬁrﬂa T 9T 166 It
triangle is more than 166 cm then find the g 3ftes 8 o gad Bid ST <l =[FaH ISEIH
minimum length of the shortest side. 3d hifsm)
(A) 41 (B) 40 (A) 41 (B) 40
©) 51 D) 39 (C) 51 (D) 39

011. In a class, there are 27 boys and 14 girls. | o11, fore) e 27 S 3N 14 Sefrat g1 foret

The teacher wants to select 1 boy and 1 HHIhA & fou, e w1 gfdffeeg 3 & fou
girl to represent the class for a function. In 3181 1 1 gk N 1 FSh & TS AT
how many ways can the teacher make this Irgal 3| et I8 g fohad TR @ W
selection? HehdT 27

(A) 370 (B) 372 (A) 370 (B) 372

(C) 378 D) 390 (C) 378 (D) 390

012. A student has to answer 10 questions, | 12, fordf} formeff &1 10 wodi & I &3 B, Seifen

choosing atleast 4 from each of Parts A and 39 UH UM A A B T 9 0 & Y 4 Y99
B. If there are 6 questions in Part A and 7 in @:ﬁ I AT AT 6T E AU BH 7
Part B, in how many ways can the student I3 8, al a8 foeneff fohas R @ 10 v GCl
choose 10 questions ? HehdT 27

(A) 206 (B) 222 (A) 206 (B) 222

(C) 256 (D) 266 (C) 256 (D) 266

8-AA | [4] [ Contd...



013.

014.

015.

016.

017.

The total number of terms in the expansion of
(x + a)! — (x — a)! after simplification is:
(A) 102 (B) 25

(C) 26 (D) None of these

If the coefficients of 219, 37 and the 4t terms
in the expansion of (1 + x)™ are in A.P., then
value of n is:
(A) 5

© 1

B) 7
(D) 14

In a G.P. of even number of terms, the sum of
all terms is 5 times the sum of the odd terms.
The common ratio of the G.P. is:

(A) —4/5 (B) 1/5

(©) 4 (D) None of these

The lengths of three unequal edges of a
rectangular solid block are in G.P. The
volume of the block is 216 cm? and the total
surface area is 252 cm?. The length of the
longest edge is:
(A) 12cm

(C) 18cm

6 cm

(B)
(D) 3cm

The intercept cut off by a line from y-axis
is twice than that from x-axis, and the line
passes through the point (1, 2). The equation

of the line is:

013.

014.

015.

016.

017.

(x+a)’! — (x—a)°! & TR H TLAHL o oG
7St Y T Bl
(A) 102
(C) 26

(B) 25
(D) None of these

A (1 4+ % TR g, A 3 S
3 ot T A 6, A A
(A) 5 (B) 7

©) 11 (D) 14

TS TR it | ugl <ht T uu 7| afg aft
ugi 1 AN fowm qgi % A AT S T R, A

U St T AT &:
(A) —4/5 (B) 15
) 4 (D) None of these

BHE & IE AFADR TS o o9 FHAH
foRTRT T Bemg TR Aot F R| 3W FRe
% @S % AWAA 216 79 Tt vd FoA gEE
% 252 I At 3| A goH B foRAR H
SRR

(A) 12cm
(C) 18cm

6 cm

(B)
(D) 3cm

fopelt T@1 g1 318 W W T IA: WE,
x-318] T HIE T 37d: WS ¥ AT 7 3N T8
@1 g (1,2) § ST 21 Al @ 1 FHie
i

(A) 2x+y=4 (B) 2x+y+4=0 (A) 2x+y=4 (B) 2x+y+4=0
©) 2Zx—y=4 (D) 2x-y+4=0 (C) 2x—y=4 (D) 2x—-y+4=0
8-AA | [5] [ P.T.O.
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Egé 018. Equations of diagonals of the square formed | ¢18. %@TSﬁxZO,yZO,xZIQéy:lWﬁﬁﬁﬁ
’E‘E by the linesx=0,y=0,x=1and y =1 are: % foreRurt o grieptor 2:

Eé:% (A) y=x,y+x=1 (A) y=x,y+x=1

E"E B) y=x,x+y=2 B) y=x,x+y=2

':: (©) 2y=x.y+x=1/3 (©) 2=y tx-1f3

’055 D) y=2x,y+2x=1 D) y=2x,y+2x=1

019. The perpendicular distance of the point | @19, 1%@ P (6,7, 8) l xy - 05 © SrIad @ 3

P (6, 7, 8) from xy — plane is: (A) 8 (B) 7
(A) 8 B) 7 (C) 6 (D) None of these
() 6 (D) None of these
020. }j{n% % is: 020. iiin% % 1 7 8:
(A) 3 B) 1 (A) 3 B) 1
) 0 D) V2 ©) 0 D) 2
021. Ify:%then% 021. ﬁy=%?ﬁx=om% 1T 2
atx=01s (A) cos9 (B) sin9
(A) cos9 (B) sin9 (C) 0 D) 1
© 0 (D) 1

022. The converse of the statement “If sun is not | 22, o ““gfe :{af TEl =9 W1 &, I h™

shining, then sky is filled with clouds” is: IR (Wﬂlﬁﬁ) 21" =1 faom e
(A) If sky is filled with clouds, then the sun 2
is not shining. (A) 3fg TTehmer STl ¥ WO g, d gF TR
(B) If sun is shining, then sky is filled with =9 @ 2l
clouds. (B) aﬁ;@mwé,?ﬁmaﬁ?ﬁﬁ
(C) Ifsky is clear, then sun is shining. 0 2l
(D) If sun is not shining, then sky is not (C) afg mepTr &% 2, @ ;Ef =9 & 2l
filled with clouds. (D) afe T & = &1 7, 1 TR e
SRR

8-AA | [6] [ Contd...



023.

Coefficient of variation of two distributions

023. @ s & faeRw unes 50 wE 60 B 3N
are 50 and 60, and their arithmetic means are & W HEY: 30 W 25 &, I 3% A
30 and 25 respectively. Difference of their IEERCICIRE G
standard deviation is: (A) 0 B) 1
(A) 0 B) 1 C) 1.5 (D) 2.5
(C) 15 (D) 25
024. If the marks obtained by 9 students in a | 024, 3fe 77forq s ueh 3% | 9 Teeniofi g wTe 37k
mathematics test are: 50, 69, 20, 33, 53, 39, fafefEa 3 50, 69, 20, 33, 53, 39, 40, 65,
40, 65, 59. Then the mean deviation from the 59 @1 3T o fosu miferen @ areg fomeq
median is: 2
(A) 9 (B) 105 (A) 9 (B) 10.5
(©) 12.67 (D) 14.76 (C) 12.67 (D) 14.76
025. If A and B are mutually exclusive events, | (25, 9fe geqmd A qa1 B YER el &, dl
then: (A) P(A)<P(B) (B) P(A)>P(B)
(A) P(A)<P(B) (B) P(A)=P(B) (C) P(A)<P(B) (D) None of these
(C) P(A)<P(B) (D) None of these
026. If A, B, C are three mutually exclusive and | (26, 3fe A, B, C fwreft wfieor i 7 ww®w
exhaustive events of an experiment such that AUYTSi M 9w "ead 3@ yer 3
3P(A) =2P(B) = P(C), then P(A) is equal to: 3P(A) = 2P(B) = P(C), a1 P(A) F=fesfaa o
(A) 1/11 (B) 2/11 o forg & TuM 2:
(C) 511 (D) 6/11 (A) 1/11 (B) 2/11
(©) 511 (D) o6/11
027. Without repetition of the numbers, four-digit | ¢27. 37l 0, 2, 3,5 @, IGEl gzm,—{f%[ fopu, =m
numbers are formed with the numbers 0, 2, 3, 3Tl hl TEIMU &8 STl 3l 39 YhR &+
5. The probability of such a number divisible &I % 5 9 9T g <hl TRk &:
by 5 is: (A) 1/5 (B) 4/5
(A) 1/5 (B) 4/5 (C) 5/9 (D) 3/9
©) 5/9 (D) 3/9
8-AA | [7] [ P.T.O.
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EE:? 028. LAN stands for. the following: 028. LAN [ 9419 3l
= (A) Limited Area Network (A) Hfrd &7 oo
E:é:i (B) Logical Area Network (B) aATfoiehet TRAT Aeaeh
;:foé (C) Local Area Network (C) Ahet TR Jeash
EE:? (D) Large Area Network (D) &1 & Aeah
7 029. Hardware or software designed to guard | (29, Eﬁwg{ L ?ﬂqf\w tI§T‘«f EEEIEENSIMESIES]
against unauthorized access to a computer foram TR BTSSR A WiFCAW dedeh i fohd
network is known as : ®9 § AT AT 8:
(A) Hacker-proof program. (A) TR YH T
(B) Firewall (B) BRAEA
(C) Hacker-resistant server (C) &R gferreft Tt
(D) Encryption safe wall. (D) TfshwH gUad gar
030. Which of the following does not store data | 030, fa=ferfEa § @ i 221 ! TRl &9 9 9ga
permanently? BTG
(A) ROM (B) RAM (A) ROM (B) RAM
(C) Floppy Disk (D) Hard Disk (C) vl fees (D) =TE fewm
031. The speed of modem is measured in: 031. Hreq I Tfd |71dt AT 2|
(A) Gbps (B) Tbps (A) Sfsfifies (B)  Siefidiud
(C) Kbps (D) Pbps (C) wefidieg (D) disifiug
032. URL stands for: 032. JARTS =l a1 3|
(A) Uniform Research Limited (A) I fee fafies
(B) Uniform Resource Locator (B) IfeH g et
(C) Uniline Resource Labs (C) Ifems et <red
(D) Uniform Research Locator (D) IfeH fea= dehet

8-AA | [8] [ Contd...



033.

E-commerce, e-learning, e-banking, | 033. 3-wmd, 3-fHm, I-9fFT, TW-wHEd F)
m-commerce are some of the (A) 3-gfdas
(A) e-services (B) 3T Afdas
(B) Internet services (C) IR afdast
(C) User services (D) SR FaTd
(D) Business services
034. GPRS is used in mobile phones for 034. IS BIF H STHISTRTEH ST 8T 2l
(A) Data communication (A) ST H=ER & forw
(B) Voice communication (B) & =R & fau
(C) Send SMS (C) THUAUH ¥SH & fag
(D) None of the above (D) wﬁaﬁ T 9 g T8l
035. Broadband is a convergence technology for 035. Siese TERo Jrnfiehl 2|
(A) Voice, data and video (A) &t sTer 3R difean
(B) Only data (B) whad ST
(C) Only voice (C) hael &at
(D) Only video (D) whaa difga
036. What is decimal value of binary number | (3. RR:C) &l 10100101, =hl GIHSS WA 1
10100101, B
(A) 165 (B) 155 (A) 165 (B) 155
(©) 004 (D) 124 (C) 004 (D) 124
037. The result of binary division 00101010 = [ (37. T 00101010 = 00000110 9T T H B
00000110 is: (A) 00000111  (B) 01000111
(A) 00000111  (B) 01000111 (C) 00100111 (D) 00010111
(C) ootoo11r (D) 00010111
8-AA | [9] [ P.T.O.
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038.

The drawing in which the view is drawn atan | 038, 47 w o T 30° 3 150° & I |
angle 30° and 150° is called : = S 2
(A) Auxiliary view (A) Hg&Fh g
(B) Front view (B) ™A &I R
(C) Isometric view (C) wwfudE g
(D) Perspective view (D) ufrex
039.  The model which is created by using basic | 039, g1 T} I FETET LA BT YA Heh
entities of two dimensioning is called: ST S 1T Higd shadrdl 8|
(A) Surface model (A) TTHE AisA
(B) Wire frame model (B) 9RR %A Hisd
(C) Solid model (C) 39 HigA
(D) Isometric model (D) ATsEmfdsH ATse
040. For a Whitworth external thread, the distance | 040. fegead gt 9 & foru, frar 3k 5/g & o=
between the crest and root (d) when pitch (p) #1 gl (d) 59 5= (p) g & Sl 2
is given by: (A) d=0.75p (B) d=05p
(A) d=0.75p (B) d=05p (C) d=0.61p (D) d=0.64p
(C) d=061p (D) d=0.64p
041. If a nut, when turned in clockwise direction | (41, Ife Tk 42 I Jd Tk dice T Falehalgst 0
screws on a bolt, the thread is a left-hand T YU ST 8, A IS I AR &S IS M
thread, this statement is: Ik é, Jg S
(A) True (A) &3 3
(B) False (B) Toid ®
(C) Cannot be decided (C) Tovia 78t fomam <1 Tepar 2
(D) None of the above (D) YUK § & HIE &l
042. For a dc shunt motor of 5 kW, running at | 042. 5 ferciiame <t &t e tﬁz'{, ST 1000 rpm T
1000 rpm, the induced torque will be: Id @ g, 1 i@ ek g
(A) 47.76 N (B) 5776 N (A) 47.76 N (B) 57.76N
(C) 3576N (D) 37776N (C) 35.76N (D) 37.76N
8-AA | [10] [ Contd...



043.

A current of SA flows in a resistor of | 043, 3Ife SA & 4T T YAE Tk 2 AW & TH
2 ohms. Calculate the energy dissipated in o § wgdl g o W ¥ 300 9he ©
300 seconds in the resistor. fayafea S 1 TUET R
(A) 15kJ (B)  15000kJ (A) 15kJ (B)  15000kJ
(C) 1500J (D) 15J (C) 1500J (D) 15J
044. Calculate the work done in a resistor of | (44, 3fe 20 38" & U Wofer °d 5A I gm0
20 ohm carrying 5A of current in 3 hours. JaTE 3 ©e T Bidl 8 al fehalm TR e foher
|
(A) 1.5] (B) 15] &
(A) 1.5] (B) 15
(C) 1.5kWh (D) 15kWh (C) 1.5kWh (D)  15kWh
045. Earthing is required for protection from | 045, 31fofn form @9 @ Uidew™ & forw sAvass 2|
which defect? (A) diees T qitada
(A) Change in voltage (B) 3fieR aifsm
(B) Over loading (C) faga get @ TR
(C) Danger from electric shock (D) e &I 3=d 99
(D) High temperature in conductor
046. Which alternator has the least speed: 046. T8 e &I Tfie gad %4 Bdl 2l
(A) alternator coupled with hydraulic (A) ETESIfcTeh AT o T e TeelAl
turbine (B) T 391 & TY HUCE Mol
(B) alternator coupled with steam engine (C) W TS & 1Y s el
(C) alternator coupled with steam turbine (D) 3IWed U © IS &l
(D) None of the above
047. The efficiency of thermal power plant | 047. 9Hd iR AT shl c&fdl Sad! 8:
increases by: (A) JTferer O | HII qad T T
(A) burning more quantity of coal (B) A <hl AT AT JATT i W
(B) Using excessive amount of water (@) TATE 9L UR HH hid T
(C) Reducing the load on the plant (D) WY 1 359 g6 T L T
(D) Using steam at high pressure
8-AA | [11] [ P.T.O.
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048.  If the frequency of the emf generated by an | 048, 3z 3000 rpm W TRYHT X @ Teh 3T
alternator revolving at 3000 rpm is 50 Hz, TN 379 emf sl A& 50 Hz ®, a1 «g;ﬁ $I
what will be the number of poles? I 9T BN ?

(A) 8 B) 6 (A) 8 (B) 6
©) 4 D) 2 (C) 4 (D) 2

049. If a dc class motor is connected to the ac | 049, Ife weh dc Jufl St A >l ac TS T Hee
supply then: ERIRSICEGEE
(A) the motor will not start (A) Wit T & gnft
(B) Themotor will start but stop immediately (B) et &1 7 S g —gf(—(-[ Teh ST
(C) The motor will start but will not work (C) oI Wi gl e T e R SECRC AR

satisfactorily T8 Huft
(D) None of the above (D) 3WIG H § I3 T8l
050. The single-phase motor has a characteristic 050. &t Bl Hiet o1 Tk Al 3-
(A) It does not start automatically (A) T T&q: T &l Rkl
(B) It starts automatically (B) I8 Toa: e Bt 2
(C) Itrequires only one winding (C) THH hadl U fafeer &l AE9aehdl gidl @
(D) It can rotate in one direction only (D) Ig hadl Th a3 § Tee L Hehdll B

051. The percentage of carbon in cast iron is: 051. @cIdl ol H shreid <hl fdsrd AT &dl 2:

(A) 0% (A) 0%

(B) less than 1% (B) 1%d &H
(C) less than 2% (C) 2% HH
(D) More than 2% (D) 2% ¥ SF1eT

052.  Which of the following ferrous material is | 52, wqien vt § f=fafga § 9 =9 @1 gared
made in cupola furnace: ECIDIRC IS
(A) PigIron (A) Tor 3tera
(B) Cast Iron (B) @ ral
(C) Wrought Iron (C) fueat et
(D) Steel (D) 3

8-AA | [12] [ Contd...



053.  Which material is used for making Bicycle | ¢53. wmefierar %0 & urgq fpg geiel ¥ s9™ S
frames? 37
(A) Hot rolled steel (A) BT Ucs 3T
(B) Cold rolled steel (B) 3T Ues 99T
(C) forged steel (C) WIS 3EUTd
(D) Cast steel (D) eddn s&q1d
054. The nichrome used in heating element is | 54, #ifén tferde § T TSI T dcal ol TN
alloy of following: 2
(A) nickel & copper (A) et 3 qran
(B) nickel & magnese (B) Tt 3 Ofiw
(C) nickel & chromium (C) Tierar 9 hiftrm
(D) chromium & magnese (D) shiftem g S
055. The wire used in soldering is alloy of: 055. dcsior d TIh TR fehEeh! T 2
(A) lead and tin (A) Har g fea
(B) lead and copper (B) dt@n g qran
(C) tin and copper (C) o9 9 dmen
(D) lead and antimony (D) dr@m g Tt
056. In gas welding the maximum flame | ¢56. g afcen & s1fteran sar aUEE 2@ 21
temperature is at: (A) ATdfEh x\r@ |
(A) inner cone (B) el @ f& @
(B) tip of flame (C) AT W o Sleh sl
(C) next to inner cone (D) 9T’ 9% W
(D) at the outer cone
057. Which material has highest shrinkage | 057, fo @ @ fopg urq 1 Heprer 3TeSE AR
allowance: gIdT 3|
(A) Lead (B) Steel (A) €& (B) 39
(C) Aluminium (D) castiron (C) Qq—ﬂ-qﬁﬁ-q-q (D) @ A&l
8-AA | [13] [ P.T.O.
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058. In lathe operations, in which operation the | ¢58, @t W fr wfspned & frem Tad it =mat
cutting speed is kept minimum: Tl S 2
(A) Thread cutting (B) Taper turning (A) =2t $ad (B) W 2T
(C) Normal turning (D) Knurling (C) HMH Elred (D) e
059. Speed of sound wave in air 059. 9T &afd &t qu Sl =S
(A) 1is independent of temperature. (A) a9 R R 78 et
(B) increases with pressure. (B) T % H1Y vl 7
(C) increases with increase in humidity (C) ATgal sigd | dgdl Bl
(D) decreases with increase in humidity. (D) AT S | Hedl gl
060. Ahemisphere is uniformly charged positively. | 60, RIS TETIAT THEHAM SAETRIG &1 T o heg
The electric field at a point on a diameter U R 3He fopd] =am@ 3 feaq fﬁ% TS heg
away from the centre is directed ¥ g B, foga & i fesm
(A) perpendicular to the diameter (A) 39 I % oFad gl
(B) parallel to the diameter (B) 39 =A™ % T B
(C) at an angle tilted towards the diameter (C) 38 =™ sl IR Torelt hior W ght 2|
(D) atanangle tilted away from the diameter. (D) 39 =A™ T L= fopdt =0T I e 2
061. Equipotentials at a great distance from a | (g1. S AT 6 Ueh HHg bl el Rlul A B
collection of charges whose total sum is not Y AT g W S A1 FHGWE I8 Bl
zero are approximately (A) T (B) @HdA
(A) spheres (B) planes (O IICKPE] (D) aﬁﬂ?ﬁ"
(C) paraboloids (D) ellipsoids
062. In aregion of constant potential 062. fiua fawe 9% forelt weor &
(A) the electric field is uniform (A) Torra & wehEm™ B 3|
(B) the electric field is zero (B) forga & ¥ &ram B
(C) there can be no charge outside the (C) IS o ST&L hig TEW &1 &l Hehall
region. (D) Ife 3TN YN o el e R a1 Stavd
(D) the electric field shall necessarily change qftatda grm)
if a charge is placed outside the region.
8-AA | [14] [ Contd...



063. If a conductor has a potential V#0 and there | (63, ufe forefl =Imoseh 1 fawa V0 & 991 38 LLs
are no charges anywhere else outside, then T T gl ft s 9w T8 7,
(A) there must be charges on the surface or (A) I & 53 AT TGk it Eaw gH
inside itself. =fgu|
(B) there must be charges only on the (B) ErRECINE ] T8 W B e g
surface. =fgu|
(C) there must be charges inside the surface. (C) =TT Ise &% it | & e g9
(D) None of the above =fgu|
(D) 3 & 1§ Y T
064. A piece of wood having no vessels (trachea) | (064, <hTS T T IheT o anfgese 781 Bt 2,
must be belong to g ffelea o forad gefua 27
(A) Teak (B) Mango (A) &b (B) M
(C) Pine (D) Palm (C) 8 (D) 9H
065. Which one of the following isnota connective | (65, famfafgd § @ S v Gt Has T8l 27
tissue? (A) ity (B) 3uTfey
(A) Bone (B) Cartilage (C) & (D) usft
(C) Blood (D) Muscles
066. Which metal ion is a constituent of [ (g6. HH-TT e AR FAURS T Ueh Tk & ?
chlorophyll? (A) A (B) HII
(A) Iron (B)  Copper (C) TrisTm (D) T
(C) Magnesium (D) Zinc
067. One of the following is not a common | ¢7. fTAfSfEd ¥ ¥ SH-97 TR y=F 3 °
disorder associated with digestive system qefyd T8l 87
(A) Tetanus (B) Diarrhoea (A) feeam (B) &&=
(C) Jaundice (D) Dysentery (C) difern (D) Ut
8-AA | [15] [ P.T.O.
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068. It is known that exposure to carbon monoxide | (¢8. ‘q—gﬁﬁa% & e qﬁ:ﬁaq-ﬁ-mggam grfornt
T GNE BT 8 H(h

(A) 39 HRU CO, TNET FH &l Il 2|
(B) 38 %I O, INTEH HH & I 2
(C) 38h HRY CO, TNEE ¢ Tl 2|

(D) 8% 0 EHITAISH T &1 ST 2|

1s harmful to animals because:

S
et

(A) It reduces CO, transport

Q2
0

>, <

Q
X2

(B) Itreduces O, transport

& <

(C) Itincreases CO, transport

“
X2 &

(D) It destroys hemoglobin

069. The following substances are the excretory | (69, fam=fofEd gered wftr & Icasit 3care 21 594
T a8 Y AT 91 gHu|
form among them? (A) gfe (B) Ik A

(A) Urea (B)  Uric acid (C) i (D) A SE-ATFETEE
(C) Ammonia (D) Carbon dioxide

products in animals. Choose the least toxic

070. Kbnee joint and elbow joints are examples of | (7. W-@i{a 3 wigd-afYy form gepr 1 @fer

(A) Saddle joint
(B) Ball and socket joint
(C) Pivot joint
(D) Hinge joint

Two cells of emf’s approximately 5V and
10V are to be accurately compared using a
potentiometer of length 400 cm.

(A) The battery that runs the potentiometer
should have voltage of 8V.

(B) The battery of potentiometer can have
a voltage of 15V and R adjusted so
that the potential drop across the wire
slightly exceeds 10V.

(C) The first portion of 50 cm of wire itself
should have a potential drop of 10V.

(D) Potentiometer 1is wusually used for

comparing resistances and not voltages.

* IR & 7

(A) dsa |fa

(B) dgsh-Wieatshl |iY
(C) yum fur

(D) hesTl |fer

5V @1 10V A= emf & B hl T

INIGH ®T H 400cm SFTE o fawamrdl g

$ S R

(A) favemmdt & 3w el St @
Jieedl 8V gt =TEu|

(B) Tavemmdt it dieear 15V & dehdl 8 GATR
%! 3 TR THRNNTT T ehd @ fob Al
o TRl W faereuTa 10V 8 et e &l

(C) TF AR & 98 50 cm WWT W fasyeara
10V 8T =feT |

(D) Tavaurdt &1 3w yr: fewie 6 qer
o foru fepan e R, favrat o forw =&

[16]
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072.  An electron is projected with uniform | ¢72, us sSH I fhE) @it awraTEl gieTfoseRT
velocity along the axis of a current carrying * AT+ 3]3%5[ THEE 9T ¥ gafy e
long solenoid. Which of the following is true? T 2 FreAfetEd 1 B o e T 27
(A) The electron will be accelerated along .
the axis. ) 3@7"@—4 S 34’%&;’5[ Bl EHTI'H
(B) The electron path will be circular about (B) s < dfe: W P H IADR gl
the axis. (C) a8 ® 45° W oA IgHa
(C) The electron will experience a force U 3 38 ThT W:ﬁ BRI
at 45° to the axis and hence execute a |
helical path. (D) S ufEfctet & 18 o AW
(D) The electron will continue to move with ThHHH 71 9 Tfd shdr @
uniform velocity along the axis of the
solenoid.
073. The primary origin(s) of magnetism lies in 073. TFehed T b 3¢ o 2l
(A) intrinsic spin of electron. (A) 3@;@7—,{ T 35 =H0
(B) Pauli exclusion principle. (B) T3 — 39S m%;“?[
(C) polar nature of molecules (C) 31 $ et g—%‘;ﬁ[
(D) None of the above (D) 0 O BIs T8
074.  The self inductance L of a solenoid of length | 74, fpeht ITEY e * ATFS A q97 FHud B
[ and area of crosssection 4, with a fixed & G N aF | BETE I qRATIGHT B
number of turns N increases as ENEhed [ 9 ST &
(A) [and A increase. (A) Idem AT QK&T F =g
(B) [ decreases and A increases. (B) [ HH qeT A T gﬁﬁq ¥ 9.
(C) lincreases and A decreases. () la—{ﬁq‘am AT 5 % Y.
(D) both1and A decrease (D) Qe AT 5H ¥ Ty
075.  If the rms current in a 50 Hz ac circuit is 5SA, | (75, I 50 86 ac TRUY T SA T rms ERT JaTfed
the value of the current 1/300 seconds after @ 8{, IR IR 1l NS 2 % 1/300
its value becomes zero is Yohe TvETd ST HH BT
(A) 524 (B) 5V32A (A) 5/2A  (B) 54312A
(©) S6A (D) 5/V2A (C) 5/6A (D) 5//2A
8-AA | [17] [ P.T.O.
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076.

The output of a step-down transformer is | 076, fore} so=mf glowr =1 7 12w
measured to be 24 V when connected to a Tod I FAINTd v 9 24 V HUT S€T 2|
12 watt light bulb. The value of the peak e 97 1 99 2
current is (A) 1/4/2A. (B) 2A.
(A) 1/V2A. (B) 2A. ) J2A. D) 242 A.
(C) V2A. (D) 2y2 A.
077.  The source of electromagnetic waves can be | (77, Jgdgreehi@ qUl %1 Fd & Fhdl & HIg
a charge S ICk
(A) moving with a constant velocity. (A) T 99 9 @ = @ A
(B) moving in a circular orbit. (B) < —og-ﬁ'q % ° I &1 gl
(C) atrest. (C) it fommaEen # 71|
(D) none of the above (D) 3T ¥ his &l
078. A short pulse of white light is incident from | (78, vod JehTeT T Teh &Y T o9 A Hid &
air to a glass slab at normal incidence. After Toh 39 G SFead 3T9fdd gidT 8| e 9
travelling through the slab, the first colour to ﬂaﬁ % T 99 Ygs a8 a1t 9ot
emerge is BT
(A) blue (B) green (A) e (B) &
(C) violet (D) red (C) ot (D) A
079.  An object approaches a convergent lens from | (79, wes forar fopef} ST <50 & a1 TR A 5 m/s
the left of the lens with a uniform speed 5 m/s &6 THIAE T 9 ITTHA HLdl g I Bihd
and stops at the focus. The image T AT &k AT 2| Sfdfere
(A) moves away from the lens with a (A) 5 m/s < THEAH I & o 9 T fq
uniform speed 5 m/s. Exxild
(B) moves away from the lens with a (B) THEH ol & oig ¥ L= IECT G
uniform accleration. (C) 9 ol | oiF 9 L= TTfd LT 2
(C) moves away from the lens with a non- (D) STEH ol & ofF i 3T i Har 21
uniform acceleration.
(D) moves towards the lens with a non-
uniform acceleration
8-AA ] [18] [ Contd...



080. Heavy stable nucle have more neutrons than | ¢g0. Torf 9 TfeEni & it I & Tl |
protons. This is because of the fact that 31feres gl 31 39 %R0 98 2 6
(A) neutrons are heavier than protons. (A) =IgH e 9 371 Wi gid 8
(B) electrostatic force between protons are (B) el o o= TR ﬁ-g-c[ ERBIREEMIRED
repulsive. BT 2
(C) neutrons decay into protons through (C) B fomres g =I2iq e | fagfea a1
beta decay. ITd 2
(D) nuclear forces between neutrons are (D) ;Kfzﬁ & o AR 9 IS o §"
weaker than that between protons. TRhT a1 Y 3ueT @F‘l gIan 2l
081. Holeis 081. TS EdI 2
(A) an anti-particle of electron. (A) 3AFET T Yferehur|
(B) a vacancy created when an electron (B) TEEAST €Y ¥ Ueh FoAddH T feseeh
leaves a covalent bond. I ) 39+ i)
(C) absence of free electrons. (C) g&a ATl rqafeafa
(D) an artifically created particle. (D) §[%|1:[ w9 9 Qﬁl'c[ IS Y|
082. A male voice after modulation-transmission | (82, s ey sl GTUft, HTGAHUT I IUT & Y=,
sounds like that of a female to the receiver. TTE! <kl Higwt i aofl <ht wifd El:né adt (;R-ﬁﬁ
The problem is due to gﬁ-cﬁ) 2| SHhT HIU a-
(A) poor selection of modulation index (A) ITIIFd T {‘chhioh HIFAE(0<m
(selected 0 <m<1) < 1 AT T7=)
(B) poor bandwidth selection of amplifiers. (B) 3Tagehi o ol ST dUg AT hl
(C) poor selection of carrier frequency A=
(D) loss of energy in transmission. (C) dT&eh T <l 3117{% EARCEERERICEIC]
(D) T=0 § Ii-gI
083. The mean length of an object is 5 cm. Which | 083, feref} fig <1 2figd &aE 5 cm 8| F=fsfEa
of the following measurements is most T -1 |19 Gdiferes ot 87
accurate? (A) 49cm (B) 4.805 cm
(A) 49 cm (B) 4.805cm (C) 5.25cm (D) 5.4cm
(C) 525cm (D) 54cm
8-AA | [19] [ P.T.O.
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E 084. A lift is coming from 8th floor and is just | 084, wer forde smadi afvie @ M= =1 @ 8 3K
35 about to reach 4th floor. Taking ground floor eft 7o W aEe AT §1 At T ahin %
3 .. . o .

E"E as origin and positive direction upwards for f%,,-q qdS Il ) 1%@ AT SY shl AT YTcHD
E'i'i all quantities, which one of the following is oo & a1 Fefefaa o =i od 27

0:0.

o correct? (A) x<0,v<0,a>0

(A) x<0,v<0,a>0
B) x>0,v<0,a<0
(C) x>0,v<0,a>0
D) x>0,v>0,a<0

B) x>0,v<0,a<0
(€) x>0,v<0,a>0
D) x>0,v>0,a<0

085. Atametro station, a girl walks up a stationary | g5, ferdft TSl I W hI3 Bgh! Th b Ry
TEheldt Wt ¥ehs H FW wedl 8l AR a8

escalator in time t,. If she remains stationary

on the escalator, then the escalator takes her TEholel T @l @ dl Teholdl 39 t) THhe §
up in time t,. The time taken by her to walk FIW S Il gl I 98 Iad 7T TEhetdl T
up on the moving escalator will be 319} %f Tfd ¥ & SR I 1 3T ST doh
(A) ()2 B) 4t e § @ A T A

©) t /() D) t-t

It is found that |A+B| = |A|. This necessarily
implies,

(A) B=0

(B) A,B are antiparallel

(C) A,B are perpendicular

(D) AB<0

A mass of 5 kg is moving along a circular
path of radius 1 m. If the mass moves with

300 revolutions per minute, its kinetic energy

would be
(A) 250 72 (B) 100 72
(C) 5n? (D) 0

(A) (t,+)2  (B) tL/(t-t)
©) t, t/(t+t) D) t-t,

Ig Ul T T |A+B| = |A| 99 3EE
Afemrdd: I8 eafq gt 8 T

(A) B=0

(B) A, B ufd THTR B

(C) A, Bdsad 3l

(D) AB<0

5 kg GO W1 T T4 1 m Brsam s gamhRr
9o R A 2| Afe I8 e wid fme 300

TR BT &1 A1 $Eeh! TSt Hoft Rt
(A) 250 n2 (B) 100 n?
(C) 5n? (D) 0

[20]
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088.

A copper and a steel wire of the same diameter | 088, HHM =ITH & W Td I & dli l R I
are connected end to end. A deforming force o oot Sirer T 31 3| ‘{:rgqﬁ a9 TS
F is applied to this composite wire which fosus 9@ F U fran Siar & S o
causes a total elongation of lecm. The two lem < Fe FgT d1 21 3 e 9 H-
wires will have: (A) F9H gfdqeet g & ud fafar= fospfaa|
(A) the same stress but different strain B) fafi= ufqes I 2l
(B) different stress (C) w9 fohfa Bt =1
(C) same strain (D) 3Wd T ¥ i3 &I |
(D) None of the above

089.  With increase in temperature, the viscosity of | (89, qmq &g T
(A) gases and liquid decreases. (A) TE 3R gdi 1 I9=ar gedt 7
(B) liquids and gas increases. (B) gai 3 Gl < y9W=ar et 2|
(C) gases increase and liquid decreases. (C) gt sl TITaT Fgdl & 3T gai <hl JAaT
(D) liquids decrease and gas increases. gedt 2

(D) gt shl T Tedt B 3T At Y e
gt 2|

090.  Which of the following statements about the | 099, sSaeia & @ed d F=fefgd & @ H=-w
electron is incorrect? HYF TTHd 27
(A) Itis anegatively charged particle. (A) I8 HBUGRIT HoT 8T 2|
(B) The mass of electron is equal to the mass (B) 34T W1 geadM =g % CqH h

of neutron. TS BT 2

(C) Itis a basic constituent of all atoms. (C) Ig Teft W?’ﬁ EAR G RCCRES BT 2|
(D) Itis a constituent of cathode rays. (D) I8 TS Rl 1 Fa9d BT &

091. Which of the following have no unit? 091. fifofad d & foraehl g Soh1e w181 Bidl 27
(A) Electronegativity (A) Togga =womcaehd
(B) Electron gain enthalpy (B) Toiaeid dfed Treddt
(C) Ionisation enthalpy (C) ST Tdedt
(D) None of the above (D) 39U H T hig &I

8-AA | [21] [ P.T.O.
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Egj 092. A person living in Shimla observed that | (92, fmeT # &1 91 T ufad 4 STBIHA TR
=§.§ cooking food without using pressure o form e ot 1 TN foRU IS yeh |
E’é:% cooker takes more time. The reason for this Jftrer T SAT 31 39 TABIRA hT HRUT
g’i observation is that at high altitude: I8 % 5 Vﬁ'l‘s‘ IS TAFT |
E:;:; (A) pressure increases (A) T ¥ 3
’.E.E (B) temperature decreases (B) A9 &edl 8

(C) pressure decreases (C) @& el &

(D) temperature increases (D) 9 §edT |

093. Which of the following property of water can | (93. ot <l @ T M HTHR FHAH o foou ST

be used to explain the spherical shape of rain &+ f=fefega o o fog 0T T KLCIURE RIRSI]
droplets? gehal B 7

(A) viscosity (A) ¥IMEdr

(B) surface tension (B) Us3 a9

(C) critical phenomena (C) hifceh TiCereT

(D) pressure (D) =

094. At a particular temperature and atmospheric | 094, we faRy 9@ 3T IIAEHE T W e

pressure, the solid and liquid phases of a pure
substance can exist in equilibrium. Which of
the following term defines this temperature?

(A) Normal melting point or Freezing point

(B) Equilibrium temperature

(C) Boiling point

(D) None of the above

Hydrogen peroxide is:

(A) an oxidising agent

(B) areducing agent

(C) both an oxidising and a reducing agent

(D) neither oxidising nor reducing agent

ugrel T 3 AT gF ITIEATE A T g1 Hehdl!
2| 39 19 Sl T Had 87

(A) I e a1 fBqie

(B) = A

(C) FaYTH

(D) ¥ § g T

BISSIoH TIFETSS B -

(A) IR i

(B) U= Hh

(C) SATerfIehtur hifeh qUT TI=RA FHHeh ST

(D) T A1 ATFHIHT s 3R T & A=A
e
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096. By adding gypsum to cement 096. H= ¥ oy fom o-
(A) setting time of cement becomes less. (A) HiHE 3G a9 Y Bl ST 2l
(B) setting time of cement increases. (B) Hite 1 3Mge THY 91g STl 2
(C) colour of cement becomes light. (C) HHE ST TT g1 & AT &
(D) shining surface is obtained (D) I3 T T IR AT 2|

097. Dryiceis 097. I 9% -
(A) Solid NH, (A) ‘cﬁ'&[NH3
(B) Solid SO, (B) 31 SO,
(C) Solid CO, (C) 3™ CO,
(D) SolidN, (D) zﬁ-{:[Nz

098.  Quartz is extensively used as a piezoelectric | (98, Fadst w1 gEfeRq s & fou EEGIRES |
material, because it contains the following: I9ANT il @ ekl gEd feferfiaa gar 21
(A) Pb (B) Si (A) Pb (B) Si
©) Ti (D)  Sn (C) Ti (D) Sn

099. Which of the following gases is not a green | (99. fy=fefEd # & - 19 gﬁ—cplg g g g7
house gas? (A) CO (B) O,
(A) CO B) O, (C) CH, (D) H,0 9™
(C) CH, (D)  H,O vapour

100. Sewage containing organic waste should | 100. 9 319f3rE RER] Iifgdie &1 fH9eq SomEl
not be disposed in water bodies because it o 8 fopar S =nfeu w=ifes tEr @ @
causes major water pollution. Fishes in such IS I3 TGEUl 34 g1 3l g g@ﬁ
a polluted water die because of S5 H HSIdl oh T T 0T B-
(A) Large number of mosquitoes. (A) oS T H Toa
(B) Increase in the amount of dissolved (B) A § faef Afeds bl 71 | ng?q

oxygen. (C) 5 #H forefi stierefts st /e § et
(C) Decrease in the amount of dissolved (D) Fr=g gr At o Tl 1 31a%ey &
oxygen in water. ST

(D) Cloggingof gills by mud.

8-AA | [23] [ P.T.O.
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